
EMCF 31 

Due 4/5 at 8:00 am 
Log into CourseWare at http://www.casa.uh.edu 

and access the answer sheet by clicking on the EMCF tab. 

NOTE:  On all problems, choice F is “None of the above”. 

 

 

 

 

2. 
−∫

4

0

dx

x 2
 is an improper integral. 

 

 A. True             

 B.  False     

  

3. 
−∫

6

2

dx

x 2
 is an improper integral. 

 

 A. True             

 B.  False 

 

 

 



4. 
−∞∫
2 3xe dx  is an improper integral. 

 

 A. True             

 B.  False 
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 A. Converges 

 B.  Diverges 

 

6. Evaluate 
∞

+∫ 20

1
dx

x 4
. 

 

 A. π/2 

 B. π/4 

 C. 2π 

 D. The improper integral is divergent. 
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 A. 0 

 B. 1 

 C. e 

 D. ∞ 

 

 

8. Does 
1

1
dx

x

∞

∫  converge or diverge? 

 C. Converge  D. Diverge 

 

 



9. Does 
21

1
dx

x

∞

∫   converge or diverge? 

 C. Converge  D. Diverge 

 

10. Does the sequence 
1

1

n

∞
 
 
 

 converge or diverge? 

 C. Converge  D. Diverge 

 


